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1223 BMI
n
65~747% 13 163.8 £ 3.6 163.5 = 6.0 65.6 = 9.8 62.9 + 9.1 245 + 41 235 = 3.0
75~85% 9 159.4 £ 5.2 159.7 %= 6.1 584 = 7.1 58.2 + 8.9 23.0 £ 2.3 23.0 = 3.2
¥ 65~74% 28 1514 * 53 1505 * 54 537 = 7.9 524 + 83 235 + 3.8 232 * 34
75~855% 17 1455 £ 7.7 146.3 = 6.3 52.0 = 12.8 49.3 + 8.7 244 + 55 23.2 + 3.6
+
XPR22EEERRER - RERE
L. BE - KED75~85m%ME#k(C(F85m MU L BEEN D (BMILE75~847%)
3
H22FERMEE - RERAR
SD n SD n
65~74i% 7076 3976 13 6703 4482 608
75~85i% 4168 1972 9 3935 4115 386
ey H2Q2FERER - RERAE
SD n SD n
65~74%% 5752 3035 28 5705 3510 714
75~85r% 3192 1615 17 3025 2547 513
4
TEE BMR BMR PAL BEENELE20105FR
n (kcal/day) (kcal/day) (kcal/day)
65-74 13 2282 =+ 249 1247 += 171 1333 = 108 1.84 = 0.17 1.50 1.75 2.00
75-84 9 2117 =+ 370 1193 =+ 139 1201 =+ 109 1.78 = 0.25 1.45 1.70 1.95
7% 65-74 23 1946 =+ 315 1031 =+ 101 1000 =+ 98 1.89 = 0.25 1.50 1.75 2.00
75-84 12 1773 = 290 999 + 126 913 + 177 1.75 =+ 0.16 1.45 1.70 1.95
XERER - REAERADOR
TEE:
BMR:
PAL:
5 3
() Sedentary( ) LPA( ) MVPA( )
edentar — —
n y 1T =T
65-74 13 827 =+ 142 501 =+ 128 200 *x 53 43 =+ 22 43 =+ 19 40 = 24
75-84 9 813 =+ 127 503 + 84 213 = 97 47 *+ 14 35 =+ 30 16 = 8
7% 65-74 28 906 =+ 140 481 =+ 117 285 =+ 62 49 + 18 58 += 25 32 += 17
75-84 17 886 =+ 189 544 + 171 250 =+ 59 46 =+ 18 30 = 14 16 =+ 15
Sedentary: ( 1.5METs)
LPA: (1.6-2.9METSs)

MVPA: &S558 G B IS/ (23.0METSs)
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